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1. Find the equation of the line that passes through (1,-2) and is
perpendicular to the line x + 3y = 6

_ 1 7
a.y““‘“j"X'*g
b.y=3x-5
C. %x+y=——§—
d. 3x+y=1
e. x-3y=-7

2. Find the center and radius for the circle x2 + y2-x+2y+1=0

a. ¢(1,-1) r=

1 =
b. c(—g,l) r=-
1 _ 1
C. C(E,-l) r=-
1 _ 1
d- C(E,"'l) I'—E
e. c(1,-1) r=20

3. Find the solution set of the inequality |2x-3| >k, if k <0.

(-0, k) U (k, «0)
(-k, K)

. @

. (-o0, 00)

. [k,

e n oo

L



4, Solve: — . . = 2”2
X +5x+6  x*+2x-3 X +x-2
i
a. {51“6}
1
b- {21 __6_}
1
C. {_5’ 6}
d. {-6)
1
e. {5}

5. How many pounds of an alloy containing 45% silver must be melted
with an alloy containing 60% silver to obtain 40 pounds of a 48%
silver alloy?

a. 8 pounds

b. 20 pounds
c. 32 pounds
d. 30 pounds
e. 22 pounds

6. If k is a negative number, then which of the following equations must
have 2 imaginary solutions?

a. x2+ kx +3k2=20
b.k+ (x~-5)2=0
c. -(x+1)2+k2=0
d. -x?2 —kx-2k=0
e. 6x2+7k=0



7. Identify the third term of the expansion (3x + 4)®

a. 65,536x6

b. 48x¢

c. 11,664x6

d. 569,592x5
e. 326,592x6

8. Solve t = 25gx? for x.

Vi

5q
Ja
Sq

i
H

a. X

b. x

o o0
X xR %
oo
H B B R
=0 X
5 S

-3 a -3
4 4 1
2 -3 2

9. Evaluate the determinate:

a. 27 + 6a
b. 45 — 6a
c. 27 —6a
d. 45 + 6a
e. =21 -6a



10.

a

C.

d

e.

11,

12,

CRE-TR eI~

O R

Solve: | 3x-5]-3=4

.{4,_5}
b. {-4,2%)

3
4 4
{5/ “E}
4

no solution

What is the remainder whén X3 - x2 — 10x + 4 is divided by x + 37?7

For £(x) = x? - 2xand g(x) = 2x - 3, find (f +g)(- 1)

-123
135
-5
0
-115



13. Solve: 2‘32“ -2a=14

14.  Factor completely: 5x (x - 4) - 7x + 10

a. (x - 5)(5x - 2)
b. (x - 4)(10 - 2x)
c. (x-5)(bx+2)
d. 2(x - 4)(x + 5)
e. prime

15.  Find the vertex of the parabola y =2x2-12x + a

a. (3, a -18)
b. (-3, a - 18)
c. 3,a-9)
d.(-3,a-9)
e. (6, a -~ 36)



16. Solve: 4 21 = 2 -x

17. The area of a triangle is 600 square feet. If the height is three times
the base, what is the height of the triangle?

a. 102 feet
b. 20 feet
c. 60 feet
d. 3042 feet

e. IOJ— feet

18. Solve: 72=38p-1)2+ (3p-1)

a. {9, 8}
b. { -2-, 3)

c. {9, -8}
7 10
d. {'“’51 ”3—}

e. {3, 5}



x+2+

3

19. Simplify:

x—-5-

x+1
x+8

2x-3
x—5

(-12,18, 0)}
( 486 129 37

2177 317217

oo

(486 129 37

Q. 0

2177 317
(2,2, 3)}

217

A
A
. {(12,-18,0))
A
{

e.

2x-3
39
2x—3
1 2
—x+ -y -z
6y 3

)

47 3 4
1 3 3
v+ 2y + 2

X 2y 42

)



21.(r3)m2(s2)4

FO(S_B)MZ

S2
a.~—7—

~

b5

6

~

22. Solve: Vv7-3x -x=1

a. {- 6,1}




33\/36me3\/;3‘
Vx

23. Simplity:

a. 33x° -xix?
b. 2x2 ¥x

c. 2x ¥x?

d. 3x/x? - xix?
e. 3xix? - x?

24. A product will break even or produce a profit only if the revenue R
from selling the product is at least the cost C of producing it. Suppose
that the cost C to produce x units of cloth is C = 30x + 3500, while the
revenue is R = 40x. For what values of x is R at least equal to C?

a. [50, 00)

b. [350, o0)

c. (350, )

d. (50, 350)

e. none of these

25. Find the real solutions for %xz = J2x+1

a. X = %iﬁ
b. x=1x2
C. X=-4/2

d x=2 £2

e. X= 214



26. Give the solution set for the compound inequality:
2k<5(k+3)-3 and 5k +1<21

a. (-0, -4) N (4, o)
b. (-0, -4) U (4, )
c. (4, 4)

d. (-4, «©)

e. all real numbers

27. What values of x could not be considered as possible solutions of

the equation 2 . F =_19

P-4 x+2 2

) . 8—1
28. S lify:
implity Y
a. 2+
b 26413
5
c. —2-1i
g 22-19
5

e. 22+ i



29. Solve the equation logi s x = -2

a. {-5}

b. (5]
c. {5}
d. {25)

e. {-25)
30. If r varies directly as t and r = 10 when t = 2, find r when t = 9.

a. 45
b. 5
c. 20/9
d. 17
e. 90

31. Find the 51st term in the sequence 2,5,10,17, ...

a. 2501
b. 2602
c. 101
d. 2705
e. 103



32. The license plates for a certain state consist of 2 letters followed by a
4-digit number such that the first digit of the number is not zero. How
many plates would not have any digits repeated in the number part of
the plate?

a. 4,212,000
b. 3,407,040
c. 4,380,480
d. 3,276,000
e. 3,066,336

33. Simplify (5 +2v3) (2-443)

a. 10-1943
b. 10-843

c. -14

d. -62-1643
e. -14-1643

34. A student can type a 60-page term paper in four hours. With a
friend’s assistance, the paper can be typed in three hours. How long
would it take the friend working alone to type the paper?

a. 12 hours d. 10 hours
b. 6 hours e. 8 hours

c. 2 hours



35. Find three consecutive odd integers such that five times the middle
integer is three less than the sum of the first and third. The sum of the
three integers is

a. 3
b. -15
c. -3
d. -10
e. 9

36. Simplify: L -

a. 1
b. 0
c. -1
d 1



37. A positive integer N with three digits in its decimal representation
is chosen at random (that is, each such number is equally likely to be
chosen). What is the probablility that logs N is an integer?

a. 0

b. 3/899
c. 1/300
d.1/225
e. 1/450

38. A rectangular garden measures 8 feet wide and 16 feet long. The
gardener wants to put a strip of gravel of uniform width around the
garden. There is enough gravel for 112 square feet. How wide will the
strip be?

a. 2 feet c. 1 foot e. 6 inches
b. 4 feet d. 3 feet

39. Find the slopes of the asymptotes of a hyperbola with the equation

2

X y2=1
PR

a. 2and -4
b b

b. aand - a

c. band - b
d 2and -2
a 4}

e. Landl
a



40. The point [1£2] is 3/5 of the way along the line segment from

573

(2,3) towards (a, b). The sum of a and b is

a. 8

b. 10
c. —-25
4 38

5
e. 13



